Kexé/ Instanty Recalll Facts
Year 3 - Autumn la

I know number bonds to 100.

By the end, of this half term, children should know the following facts: The aim is for

thern, to recall these: facts insbantly.

Number Bonds to 100.

Some examples:
60 +40 =100 37 +63 =100
40 +60 =100 63 +37=100
100~-40 =60 100 - 63 = 37
100~-60=40 100~-37 =63
75 +25=100 48 +52 =100
25+75=100 52 +48 =100
100-25=75 100~-52 =48
100-75=25 100-48 =52
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TopTip&
The secreb to success s practising little and, ofter Use time wisely. Carv yow practise
MKIRF&WW@%M%W@WW? Y ow dont need to
practise themv all ab once: perhaps yow could, have a fact of the day. If yow would, like

Buy one get three free - If your child knows one fact (eg: 81 +19 = 100), carv they

Use number bonds to- [0 - How carv number bonds to- 10 hdpgowwor\boubnumber\

bonds to 007
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Rollb o number - Use & dice to- create a & digitmunber\— WJruphruunbendog,ou;ad.d/

to this to make 1007



http://www.conkermaths.org/cmweb.nsf/products/conkerkirfs.html
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I carv could v 50s and, 100s
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Countlng/ inv 50s

Counting v 50s s very similar to- your S times table.
Lebs counb irv Ssi

5, 10, 15, &0, &5, 30 ...

Now lets count ins SOs:

50, 100, 150, 200, 450, 300 ..

What do- yow notice?

Counting v 50s s just like counting v Ss bub withy anv extra zero:

Example:
300, . 400, 450,

Use your knowledge of the 5 times table and reduce the size of
eachy number by, dividing by 0.

That sequence would, go:
30, 35, 40, 45, 50

Now multiply the numbers by 10 agairn to find the answer

300, 350, 400, 450, 500
The missing numbers are: 350 and, SO0.




Counhng, v [00s
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Whmgowcowxbupandfdowmlmhundred&, Lbl&oiu/st[ike/whemg/owcounbmm Onllé/
Look ab this number line:

0 100 200 300 400 500 600 700 800 SO00 1000

Camgowseehowonhé/fhﬁhundred&whﬂmi&d\angmgeophm?
Whmgowneadm@@@,wb&gimfousefh&ﬂwuswmd&cohmw
Rexnen\bm 1000 s the same as 10 hundreds.

What is two-hundred, less than 8547

Pmmdww%wmalsohdpgmwcounbwhwﬁped& Here is 854 Umo;plawval.ue
chart.

H T O
0 0000
00 0000
0 O

@0

To({lndb/\»ohund;\edfles& WW@W@WO}%W@W&WWW@&

H T O
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So the answer s: 654



